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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 carry one mark each :

The relation connecting the measures of central tendencies is :
(A) mode = 2 median - 3 mean (B) mode = 3 median - 2 mean

(C) mode = 2 median + 3 mean (D) mode = 3 median + 2 mean

If sin 9= 1/2, then the value of sing ( sing- cosecg ) is

3
A3 2

3
® - © B D) -

If « and B are the zeroes of the polynomial 5x% —7x+2, then sum of their reciprocals is :

2 14
(A ®) 3 © 3 D) o

The value of sin?30°— cos? 30° is :

3 2
© 3 D) 3

A rational number can be expressed as a terminating decimal if the denominator has factors
(A) 2,30r5 (B) 2or3 (C) 3ord (D) 2orb

The express sin A in terms of cot A is :

V1+ cot’A 1+ cot’A
A —— (B)
cotA cotA

©) ; (D) V11— cot?A
Vv1+ COtZA cotA

Which of the following can not be the sides a right triangle
(A) 9 cm, 15 cm, 12cm (B) 2cm, lcm, \/5cm
(C) 400mm, 300mm, 500mm (D) 9cm 5cm 7cm

The pair of linear equation —5x+2y=8 and 2x—5y—3=0 have

(A) no solution (B) one solution
(C) two Solution (D) many solution
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The quadratic polynomial p(x) with —81 and 3 as product and one of the zeroes respectively
is :

(A) x2+24x—81 (B) x2—24x-81
(C) x2—24x+81 (D) x2+24x+81

If tan 2A =cot (A —18°), then the value of A is
(A) 18° (B) 36° (C) 24°
SECTION -‘B’

Question numbers 11 to 18 carry two marks each.

The HCF and LCM of two numbers are 9 and 90 respectively. If one number is 18, find the
other.

Write the frequency distribution table for the following data :

Marks Below 10 |Below 20 |Below 30 |Below 40 |Below 50 [Below 60

No. of students 0 12 20 28 33 40

2
Prove that 1+ cot™0 !

1+ cosec® sin®’

In fig-1,if ZA = ZBand AD = BE show that DE || AB in A ABC

A

E

Fig. 1

15. Form a quadratic polynomial whose one of the zeroes is —15 and sum of the zeroes is 42.
OR
Divide (2x2+x—20) by (x+3) and verify division algorithm.
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Find the mode of the following data

Class 10 =20 | 20-30 | 30—-40

Frequency 7 12 20

In fig 2, POR and SQR are two triangles on the same base QR. If PS intersect QR at O then
show that

ar (PQR) PO
ar (SQR) ~ sO-

Fig. 2

For what value of p will the following system of equations have no solution 2p—1) x + (p—1)
y=2p+1, y+3x—1=0.

SECTION -‘C’

Question numbers 19 to 28 carry three marks each.

Prove that 5 + 7 /3 is an irrational number.

OR

Prove that /7 is an irrational number.

Prove that

1

(cosec A = sin A) (sec A = cos A) = T m T S0

Divide (6 + 19x + x2 — 6x3) by (2 + 5x — 3x2) and verify the division algorithm.
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Find the mean of the following data.

Class Interval | 30-40 | 40-50 | 50 - 60

Frequency 2 3 8

In an equilateral triangle ABC, D is a point on side BC such that 3BD = BC. Prove that
9AD?=7AB2,

A boat goes 24 km up stream and 28 km down stream in 6 hours. It goes 30 km up stream
and 21 km down stream in 6 hours 30 minutes. Find the speed of the boat in still water.

OR

A person travels 600 km partly by train and partly by car. If he covers 400 km by train
and the rest by car, it takes 6 hours 30 minutes. But if he travels 200 km by train and the
rest by car, he takes half an hour longer. Find the speed of the car and that of the train.

In APQR, right angled at Q if PR+ QR=25cm and PQ=>5cm. Determine the value of sin p
and tan p.

1 1 1
In Fig 3, PA, QB and RC are perpendiculars to AC. Prove that - + ; =7

Show that any positive even integer is of the form 6m, 6m+2 or 6m+4. where m is some
integer.
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28. Find the median daily expenses from the following data.

Daily Expenses (in Rs.) | No. of families
20 -40 6
40 - 60 9

60 - 80 11
80 -100 14
100 - 120 20
120 - 140 15
140 - 160 10
160 - 180 8

180 - 200 7

Total

OR

The mean of the following distribution is 62.8 and the sum of all frequencies is 50. Compute
the missing frequencies f; and f,.

Class 0-20 20 - 40 40 - 60 60-80 | 80-100 | 100-120 Total

Frequency 5 f1 10 fa 7 8 50

SECTION - ‘D’

Question numbers 29 to 34 carry four marks each.

Show that q (p? — 1) = 2p, if sin + cos® = p and secd + cosecd = q.

Find the other zeroes of the polynomial 2x4 =333 —3x2+6x—2if — /2 and /2 are the zeroes
of the given polynomial.

1+ cosb + sinf 1+ sinf
Prove that : =
1+ cosB — sin® cosf

OR
Without using trignometric tables, evaluate

cosec” (90° — 0) — tan0 _ 2tan? 30° sec? 52° sin? 38°
4 (cos2 48° + cos? 42°) tan? 20° — cosec? 70°
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State and prove Pythagoras theorem.
OR

Prove that the ratio of areas of two similar triangles is equal to the ratio of the squares of the
corresponding sides.

Change the following data into less than type distribution and draw its ogive. Hence find the
median of the data.

Marks 30-391|40-49 | 50-59 [60-69 [70-79 | 80-89 |90-99
No. of students 5 7 8 10 5 8 7

Solve graphically the pair of liner equations.

x—y=—1and 2x+y—10=0

Also find the area of the region bounded by these lines and x-axis.

-00o0-

1040117 - C2




wug '3’
U9 HE&T 1 9 10 dF Tk Y99 1 3kl T T
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(A) FEAH = 2TEw 3 e
(B) gAH 3 HIeA® 2 T
(C) wga® 2HEE  + 3 A
(D) 9gAH 3HEAE  + 2 WA

1
IS sinh = 5 T sind (sin® — cosech) T A T :

7 2
5 © 3

sin? 30°— cos? 30° & M % :

V3
2

1 3 2
(A -5 (B) © 3 D) 3

T IRET T FI Wi e % 9 H e foRan S wehdr € Al sHHT 319 UHETE ¢
(A) 2,3 a5 (B) 23an 3 (C) 33¥ars5 (D) 23ear5

sin A %l cot A % IS H =Fad ¥ T YT B :

2
() A (B)
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Freferfaa sonsti & @ 6 o T guehion e S oy & 72
(A) 9cm, 15 cm, 12 cm (B) 2cm,1 cm, /5 cm
(C) 400 mm, 300 mm, 500 mm (D) 9cm,5cm, 7 cm

Ygs THR I —5x+2y=8 IR 2x—5y—3=0 % &A T
(A) IS A &l (B) T& &
(C) T =TA (D) 3% &

gt fgoma 9gTe p(x) F Tl IR YIF HUH: —81 SR3 B dl Tg0 © :
(A) x2+24x-81 (B) x2-24-81
(C) x2—24x+81 (D) x2+24x+81

IS tan 2A = cot (A — 18°), WA FI AF T :
(A) 18 (B) 36° (C) 24°

usg - 'q’
U9 GEAT 11 W 18 Ueieh UIT 2 3ahi T ¢ :

Ifg <1 Femsil ®1 HCF iR LCM %94: 9 3R 90 § afc 398 ¥ U& He 18 € df g8l [
ST |

o o

FefafEd el ¥ T aRaRdl sed 9rvt fafan |

108 %7 (208 %7 (307 %1 (40 9 =

0 12 20 28

2
fag wifom i 14+ OO 1

1+ cosec® sin®’

1040117 - C2




14.

15.

A

AFfd— 18 afc LA = ,B3IRAD = BE <us¢ fF A ABC H#DE || AB® :

E

epfa-1

e g sgue 1 Hifere e T Jd — 15 § iR 37 Il &1 Siie 42 ¥

HAYAT

2224+ x =20 (x+3) ¥ 9 <WC IR fa9em AT ot Fegar &1 Sg Hifeg |

16. Tr=fafEa ofiwsl | wgel® T ST |

e

10 -20

20 -30

30 -40

.[ [E

7

12

20

17.

ar (PQR) PO

ar (SQR) ~ sO°

Hfd 2 H, Tk & $MUR QR W < e POR 3R SQR s g¥ &1 g PS, QR 1 O fag W wfa=sg
aﬁ,dTa$EQﬁ$:

B

T2

18. p & foa wm & fau fr=fafea gl & g™ &1 FE g 76 ¢ 2
@2p-1) x+(p—1) y=2p+1

y+3x

~1=0
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(cosec A—sin A) (sec A—cos A) = tan A + cot A

(6+19x +x2— 6x3) T (24 5x—3x2) T 9T T R fFUF THRe™ F1 Foadm i S ST |

frfafaq sitwel @ mrer 7 i |

I 37=qaet | 30 -40 | 40-50 | 50 - 60

IRARAT 2 3 8
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A IS |

freht wmerg s ABC ® o[o BC W D U& foig 39 &R © f 3BD = BC @ fag =ifs f -
9AD2=7AB?

APQR ¥ £ QU&H TH&IV § | IfE PR+QR =25 cm R PQ=5 cm ¥ I sin p 3R tan p % 9 I
HifT |
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3T 3 H, PA, QB 3R RC a1 AC W @4 T ?ﬁfmﬁmﬁ%jﬁzg

R
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z

A<—>a <—>B<—>b<—>c
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20 -40

6

40 - 60

9

60 - 80

11

80 -100

14

100 -120

20

120 - 140

15

140 - 160

10

160 - 180

8

180 - 200

7

E3yl

ateraT
frfafad siwe! 1 mee 62.8 1 AT aRamarstt 1 3 50 § A G aard £, 3R £, I FH |

o 20 - 40

AR IRAT fi 10 fa 7 8 50

40 - 60 60-80 | 80-100 | 100-120 Fd
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I sin® + cosh = p 3R sech + cosecd = q &, A WY I : q (p?2—1)=2p.

FEIR 204 — 343 — 322+ 6x — 2 % W YIS @ FIMC AfE T 9IS & I LIAF — 2 3R /7 Tl

1+ cosb + sin6 1+ sin®

g =ifse fe - =

1+ cos® — sinf cosf
OR
o arel @1 g3 feu fomr 9m 3 sife .

cosec” (90° — 0) — tan®0  2tan? 30° sec? 52° sin? 38°
4 (cos® 48° + cos? 42°) tan® 20° — cosec? 70°
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x—y=-1 R 2x+y—10=0.
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